


A can do a piece of work in 30 days. If A and B together can do 1 /3 rd of work in 4 days, then

find in how many days will B do 3/ 5 th of work?

A Teh T oY 30 faAT # O o wehat 71 AfS A 3R B et 1/3 w1 4 g d s wha €, a1 B
feram femr o 3/5 s wETT?

(c) 18 days
(d) 10 days
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2 Shiva purchased an item for Rs.8200 and sold it at a gain of 25%. From that amount he

purchased another item and sold it at a loss of 20%. What is his overall gain/loss?

910 <1 Ueh % 8200 FUX H TS 3R 36 25% oh AW WX o AT 36 AT 36T Th 7T T
TSt S I 20% BT R ol fIAT| SHeRT Her ATH/ETH T 82

A.Loss of Rs.120
B.Gain of Rs.120
C.Loss of Rs.140

J.INe1ther 10SS nor

[ ]
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3 A sum of Rs. 18750 is left by will by a father to be divided between two sons, 12 and 14 years of

age, so that when they attain maturity at 18, the amount received by each of them at 5% simple

interest will be the same. Find the sum allotted at present to younger son?

18750 EU <Y TTIT ST Teh TUAT ERT ST AT o el [THTRTA i oh [o1¢ Big T < &, gat Y
HATT12 R 14 AT 7 ATk TG S 18 TN <hl 31T W TRUSFAAT ATH Y, AT ITH W TAh i 5% FTRT
ST I ITH W1 AHT ERI BT I hl TAHT § ST ea T 7T hifrg? .]

A - 9750

B - 9800
C -10500
D - 10040




The profit earned by selling an article for Rs. 513 is equal to the loss ]
incurred when the same article is sold for Rs. 435. What should be the sale

price of the article for making 40% per cent profit?
T ol TET T 515 TUY F Aot HUTAT T ATH I F o Sa AT § 9
I TEG Y 435 TAY H AT ATAT 81 40 AF9Tar e o o Tore ag 6t fershy

e T E AT ATRT?

) Rs. 707
3) RS. 683
(4) RS. 673
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(1) 5/18

2) 7/18

3) 11/18
4) 13/18



Two shopkeepers announce the same price of Rs.700 for a sewing machine. The first offers

successive discounts of 30% and 6% while the second offers successive discounts of 20% and

16%. The shopkeeper that offers better discount, charges less than the other shopkeeper.

21 THMER Ueh TS Wi o foru @ i 700 So2r Sifea s 2| IaetT 30% 3R 6% 6

SHieh BT TS AT & Saleh A 20% IR 16% ohl ThitTeh T IS AT & A FHMER gl TE
AT 2, T T MR § A Foeh ol gl

A.Rs.9.80

B.Rs.16.80

C.Rs.22.40

D.Rs.36.40




Veer invested an amount on simple interest, and it becomes two times of itself in 10 years. If

Veer invested Rs. X at the same rate of interest on CI and he gets Rs. 5324 as amount after

three years, then find amount invested by Veer (in Rs.)?

SR T WTLOT SATST U Uk 19T 49T T, SR aE 10 I H T 6l T &1 8| A1g AR A 6. T
HISTS U THT ST SO § SR IW i1 AWt o &1g O 5324 WHES &, AT S G foraror ok 18
T (FU W) AT hrforar?

(a) 4400 (b) 3600 (c) 4800 (d) 4000




A reduction of 10 percent in the price of potatoes enables me to obtain 25 kg &=
more for Rs. 225. What is the reduced price per kg? Find also the original

price per kg.

AT & e | 10 Tfawrar <y ot & Wer 225 Tau 25 fovett atftrs s &
TR TATAT 31 Wil Tehett e hrAa 32 am i forett et hiva st uar

)

(1) Rs. 0.9, Re 1
(2)Rel,Rs2

(3) Rs. 0.8, Rs2
(4) None of these




he gain or lose percent?

A person buys 8 oranges for Rs 15 and sells them at 10 for Rs 18. What does &=

U A fh 15 59T | 8 G @AEAT ¢ R3¢ 10 TUTH 18 | AT 21 AV ATH AT

T afave Fa R ?

(1) Gain of 4%
(3) Gain of 2%
(4) Loss of 2%







(2) 90/91

(3) 91/180

1
@1 50




./ A dishonest fruit vendor professes to sell his goods at cost price but he uses a

| O weight of 950 g for the 1 kg weight. Find his gain percent.

Teh AGHT Tl TASHAT STU- WTHT Sl TRTA Hed U Aol ST JTaT LA 8, Afeh
T2 1 forelt a1 o 1T 950 T T 6T IUART HAT 31 ATH UTA9Te 6t Uar

TG,
§)) 5 %

(2)5 %

(3)5 %

(4) NOT




A man gives a certain amount as a loan at the rate 5% p.a ,after 6 month he gives same

amount as a loan to another person at the rate of 6% p.a .After certain time he get Rs 6900

from each of man, then find how much amount he had given to them ?
Teh ATEHT 5% T o T T H 0T o & W Yok (T2 77 <41 2, 6 WE T o 15 o T8 1 A0
& WU H T AT AT 8 6% I a9 shl S H | i a0 & 918 36 T ah 9 6900 S0

Torera 2, @t Ata o ok s fepa=t Trivr & eoft 5ve

B - 600
C-4500
D - 7000




KL:} A sells a good to B at a profit of 15% and B sells it to C at a profit of 20%. If %
11 C pays Rs. 690 for it, what was the cost price for A?
A 15% F ATH I B 1 Teh TEF AT ¢ HR B T 20% & AT T C Hl S=ar
2.3 C 3 foTg 690 TUR T AT T B, At A 3 Forg e wew i e

(1) 600

3) 630

(4) 580




@) 8/13
3) 13121

4)13/8




(1) 706/999

) 713/999

(3) 353/495

(4) 353/999




A man bought a chair and sold it at a gain of 15%. If he had bought it at 15% less =
and sold it for Rs 160 more, he would have gained 40%. Find the cost price of the

chair.

T ATEHT U el @lig a1 ¥ 3R 39 9E 15% Al 9gq W aw AT €, Al AT
15% ¥ TR T AT 3R T 160 T 7TrH T A< T, 77 38 40% ATH 2

T H AR Ao /T T A

2) Rs. 3000

3) Rs. 3600

(4) Rs. 3200




Find the remainder (987!!I + 37) +~ 988

~15 IIITEHTT AT &Y (987567 + 37) + 988

)38
3) 37

(4) NOT




4 Find the smallest among V5,V6,V7 and V/30
10 gmasersmst?




An article is sold at 10% profit. If its CP and SP are increased by Rs. 15 and
Rs 5 respectively, the percentage of profit decreases by 5%. Find the cost

price.

TH TET T 10% T T =T ATAT 8. AfS 38 7 Hed AR Frshar gear 7 st
15 3R 55X Y qfeg, T ATAT 7, AT TATH BT AT 5% THH B ATAT 3| TR W

L GRS

2) Rs. 213
3) Rs. 512

(4) Rs. 312




2/3 of a commodity is sold at 30% profit, % is sold at 16% profit and the rest
at 12% profit. If a total profit of Rs 75 is earned, then find the value of the

commodity.
T S & 2/3 AT T 30% FITH U AT ATAT &, S 1/4 ARTRY 16% FTH W @w

ATt 3 3R ARl 12% T OR. 98 75 A T her oI ATt foRaT s @, v g
T T AT Y ?

1) Rs. 300
) Rs. 250
3) Rs. 350

(4) Rs. 325




— What will be the product of the divisor of 900?
19 900 % WISTH T TGS T [SAH FAT ERIT?




number is divided by 16 what will be the remainder?

Ife v v&ar 96 | vl fRrsTar A T F w14 T e, afe

T &t T 16 € RS e smar @ & 9w s g

If a number is divided by 96 then we get 14 as remainder. If thrice of the

@) 20
3) 16

4) 14




The smallest multiple of 7 which when divided by 6, 9, 15 and 18
respectively, leaves 4 as the remainder in each case?

7 3 T ST WH BIET HEAT AT HA: 6, 9, 15 3R 18 & sl et 2, oY wedrw
AT T AW o &9 W 4 I dT @ a7 HEar 71 hl?

(1) 366 |
3) 370

(4) 380




3/5
10%. If there was an overall profit of Rs. 32, Find the value of the

consignment.

of a consignment was sold at a profit of 15% and the rest at a loss of

Th @ % 3/5 AAT HT 15% % ATH G ST b1 AR AT R 10% F

THA W, Al 32 TAT /T ATH FAT AT &H 6T Hed A1 0 ?

1) Rs. 640
(2) Rs. 460
(3) Rs. 960

(4) Rs. 740




together and sells at 4 a rupee. Find his profit per cent profit.

A person buys 100 toffees at 10 a rupee and 200 at 5 a rupee. He mixes them

T AR 100 TR GAEAT 2 10 SThRT 1 TUT 6 A, 3R 200 AT 5 21T 1
AT T T A,ZAT hr Arer firerent 4 2y afer sae & S 2ar ,ar @ afavra wma

w2

1) 20%
(2) 25%

(3) 40%

4) 50%




K / A man buys two tables for Rs 1750. He sells one so as to lose 10% and the ]
24 other so as to gain 15%. On the whole he neither gains nor loses. What does

each table cost?

Teh ATSHT 1750 TUA | Y AT THEAT gl 38 Teh W 10% <hY T ae
AN W 15% HTATH AV TATHA TR A v , A eaer

T T Y 2
(1) Rs. 1000, Rs. 750

(@) Rs. 950, Rs.800

(3) Rs. 1050, Rs. 700

(4) NOT

[







